
© 2019, Flinn Scientific, Inc. All Rights Reserved. Reproduction permission is granted from Flinn Scientific, Inc. Batavia, Illinois, U.S.A. No part of this material 
may be reproduced or transmitted in any form or by any means, electronic or mechanical, including, but not limited to photocopy, recording, or any information 

storage and retrieval system, without permission in writing from Flinn Scientific, Inc.

Name___________________________________________________

Student Worksheet
For both the hcp structure and the ccp structure, each atom has 12 adjacent atoms.

  1.	 Examine the simple cubic structure.

	

	 How many atoms are adjacent to each atom? (Count first the number of atoms touching a specific atom in one layer, 
then look at the number of atoms in the layers above and below that are adjacent to the same atom.)

  2.	 Examine the body-centered cubic structure.

	

	 How many atoms are adjacent to each atom? (Count first the number of atoms touching a specific atom in one layer, 
then look at the number of atoms in the layers above and below that are adjacent to the same atom.)

  3.	 Compare the number of atoms that touch each atom in the simple cubic versus the body-centered cubic structures. 
Knowing that the hcp and the ccp structures have the highest efficiency of packing (74% of the space), estimate 
whether the simple cubic or body-centered cubic structure has the greater efficiency of packing.


